FACULTY OF INDIAN MEDICAL SYSTEM

DEAN

Dr.Ramachandra Nisargi, M.D,Ph.D (Ayu)

SL NO	SUBJECT	Number of hours of teaching			Details of maximum mark					
		Theory		Total	No:of Papers	Theory	Practical	Total		
	FIRST PRO	FESSIONAL SUBJECTS:			Duration -12 Months					
1	PADARTHA VIGYAN AVAM AYURVED ITIHAS	100	-	100	2	200	-	200		
2	SANSKRIT	200	-	200	1	100	-	100		
3	KRIYA SHARIR (PHYSIOLOGY)	200	200	400	2	200	100	300		
4	RACHANA SHARIR (ANATOMY)	300	200	500	2	200	100	300		
5	MOULIK SIDDHANT AVAM ASHTANGA HRIDAYA (SUTRA STHAN)	150	-	150	1	100	50	150		

SL NO	SUBJECT	Number of hours of teaching			Details of maximum mark				
		Theory	Practic al	Total	No: of Pap ers	Theory	Practical	Total	
	SECOND PROFESSIONAL SUBJECTS: : Duration -12 Months								
1	DRAVYA GUNA VIGYAN (PHARMACOLOGY AND MATERIA MEDICA)	200	200	400	2	200	200	400	
2	RASASHASTRA – BHAISAJYA KALPANA (PHARMACEUTICAL SCIENCE)	200	200	400	2	200	200	400	
3	ROGA NIDAN EVAM VIKRITI VIGYAN (PATHOLOGY & MICROBIOLOGY)	200	200	400	2	200	100	300	
4	CHARAK PURVARDH	200	-	200	1	100	50	150	

SL NO	SUBJECT	Number of hours of teaching			Details of maximum mark				
		Theory	Pract	Tota	No:	Theory	Practica	al Tot	
			ical	1	of			al	
					Pap				
					ers				
	THIRD PROFESSIONAL SUBJECTS: Duration -12 Months								
1	AGAD TANTRA	200	100	300	1	100	50	150	
	VYAVAHAR AYURVED								
	EVAM VIDHI VAIDYAK								
2	CHARAK SAMHITHA	200	-	200	1	100	50	150	
	UTTARARDH								
3	SWASTHA VRITTA &	200	100	300	2	200	100	300	
	YOGA (PREVENTIVE AND								
	SOCIAL MEDICINE &								
4	YOGA) PRASUTI & STRIROGA	200	200	400	2	200	100	300	
4	(GYNAECOLOGY &	200	200	400	2	200	100	300	
	OBSTETRICS)								
5	BAL ROGA	100	100	200	1	100	50	150	
	(PAEDIATRICS)			= 2 0					

Teaching methodology

2016-2017

- Students Seminar
- Students Interactive Session
- Group discussion
- Teachers presentation
- Teachers seminar

2017-2018

- Students Interactive session
- Students seminar
- Teachers seminar
- Project based learning
- Problem based learning
- Case studies
- Spot group discussion
- Tutorials

Internal assessment

2016 - 2017

- Sessional exams -100 mrks
 - Twice in one academic session
- Preuniversity exam
 - 100 mrks each paper
 - Practical/viva
 - At the end of the session
- As per our council IA marks will not be added to final marks

2017-2018

- Weekly assesment
- Monthly assesment
- Quarterly objective
- Half yearly –
 subjective
 - One at the end of 6 mths
 - One pre university as per university pattern

Publications

2016 - 2017

 20 publications of faculty in various national, international journals
 indexed

2017 - 18

 Plan to increase the number of publications

Events conducted in 2016-2017

- 4 guest lectures by well known resource persons from reputed institutions
- Teachers day
- Dhanwantari jayanti
- Induction 2016-17 batch
- Fresher's party
- Quiz competitions

THANK YOU